Equal Ratios

Extend Your Learning
Answers and Explanations

4 x8is 32
4x4is16

dollars

ounces 8 32

2. Four bags of apples weigh 9 pounds. Mr. Wilson has 36 pounds of apples. How many
bags is that?

bags 4 16
pounds 9 36

3. Mr. Jones drove 70 miles and used 3 1/2 gallons of gas. Later he drove 105 miles and
used 5 1/4 gallons. How many gallons will he use if he drives 175 miles?

70 +105 =175
31/2+51/4=83/4

miles 70 105 175
gallons 31/2 51/4 8 3/4

4. Eighteen inches of ribbon costs $2. How much ribbon can Jo buy for $9?

1/2x18 =9
1/2x2 =1

inches of ribbon 18 9 81
dollars 2 1 9
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